T | 28X - XYRF— / F=T WYL X TOXT0

System
Manual X, XY Linear Stages / Table Size 70X70

Products

E%R

Industrial

RERA
Experi-

Manual

Stoge XMO7F-C1 XMO7F-C3-CL

YMO7F-C1 YMO7F-C3-CL
[ElEn

Rotation

@ XMO7F-Cc1 @ YMO7F-C1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY i “n
XeXY 4

40 L 40 (5) .21 21
Clamp®d15
5-M4 Depth 5mm

\‘V/@E
e | &

£e )

\¢ 1

'\ 8-M3 Depth 5mm

Clamp®15

(16.5)
8
(16.5)

5-M4 Depth 5mm

T

70
60
30
©[ 20
j:@
a

70
60
40
30
40

N
>
S
4

&

)

€

-©-

z ¢ 4
8M3 Depth 5mm (58.5)

[ElEA

Rotation

(58.5)

Micrometer Head N Micrometer Head

ol S = === S —

Swivel

(Tilt) /
4-for M4 screws VO PPN C, G
= [Je0 @O
7354 Shaft Length 2.5mm - Ll*‘.J -
XZ & . 4-for M4 screws
ATF—=Y Shaft Length 2.5mm
XYe
Bz
25—
Vacuum
Stage

@ XMO7F-C3-CL @ YMO7F-C3-CL

HIHEE
Control
Electron-
ics

E\—?— _ 60 60
avhO-3 40 40 (15) 21 21

Motor
Controller Clamp®15 Clamp®15
5-M4 Depth 5mm

RSA4N 5-M4 Depth 5mm
Ry IR
Driver
Box

77 o
J—vav | . o T
Applica- o

tion & \ ¢¢]

D

(16.5)
8
(16.5)
w
o

mij
H

70
60

40
30
70
60

40
30

— -

SN
'\ 8-M3 Depth 5mm

4

o

(75.5)

ET—9—

T N 8M3 Depth 5mm
RSN P
Motor
Driver

E=/=
T—=2
Motor
Cable

8%
Appendix

(75.5)

Micrometer Head FPP03-13

-
N

7S I Micrometer Head FPP03-13

7t 4-for M4 screws 60 g Ho 0 0 i !
H— Shaft Length 2.5mm i
Accesso- 4-for M4 screws

ries Shaft Length 2.5mm LJso

RE
VAT I
Inspection
System

D-028 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



I S ——————
$%/90A0-544 K/ 34 y05=4t€4-#L 1< [

Steel Body / Cross-Roller Guide / Center-Mount Micrometer

EXHA
Industrial
e
M XMO7F-C1 YMO7F-C1 XMO7F-C3-CL YMO7F-C3-CL
odel Number -
BB o
i S BLEIR XMO7F-C1-R YMO7F-C1-RRR XMO7F-C3-R-CL YMO7F-C3-RRR-CL Expert-
irror Model Number mental
F—7)E
Table Size 70mm>70mm e
E SV KEEoOAO—SH1K AT—Y
Guide Mechanism Cross-Roller Guide g"tzgéa‘
ey ¥88) 13mm, #E) 0.3mm
Mot +6.5mm -
otion Range Coarse 13mm, Fine 0.3mm
HEE
Straightness S2um/13mm
BR/ANFTAHEL) 10um/B &% ¥8E) 10um/BE%, %) ~ 0.5um/BE%
Minimum Readout 10pm/div Coarse 10um/div, Fine = 0.5pm/div
M {_""‘.ﬁm X 0.08 arcsec/N-cm 0.16 arcsec/N-cm 0.08 arcsec/N-cm 0.16 arcsec/N-cm
oment Load Stiffness
KERHE B%
Load Capacity (Horizontal) 117.6N (12kgf) 107.8N (1 1kgf) 117.6N (12kgf) 107.8N (1 1kef) Rotation
ur=t %
Material Steel 24~
S8R S b Xy B (I=#)
Finish Nickel Plating Swivel
A= (Tilt)
Weight 0.92kg 1.84kg 0.96kg 1.92kg
BEXE _ = _ =
Ry =20um/13mm =20um/13mm
BREH A YAOX—ZA\YR(13mm) ¥EEARTaF— FPP03-13(13mm)
Actuator Micrometer (13mm) Fine Pitch Positioner FPPO3-13 (13mm) >>((>>((YY
Y I}
U= T XMO7F-C1-C YMO7F-C1-C XMO7F-C3-CL-C YMO7F-C3-CL-C
Clean Room Lubricant Model Number
B2 ARER z
L T vy o XMO7F-C1-V YMO7F-C1-V XMO7F-C3-CL-V YMO7F-C3-CL-V =

g BFEL. BROMEBFICONTIED-004N—YEBRLTTEL, XAT—=VBAEOE—X MO —IBIEERY T,

) Refer to pageD-004 for Information on Standard and Mirror Symmetry Moment Stiffness of single X stage is measured in Roll Direction.

Configuration. [EEL
Rotation

#tiE X Z{1#% Vertical X linear stage customizing

WEZRAT7 57y heRWAZET. XAT—V%ZAT—VELTHBT A ENTRRTY ., /20, ETBLEDEDICAT—DZZHERICTZBEDNHY T (ERETH 24 R

SELET), ZHEFEADBEEIC DV TIFD-004N—2 DBFROMHE TIE TS0, BESA TOMBEZAT—IICDVTIRE-016RX—J & ZB T &0, (I==)

X linear stage can utilize as a vertical stage by the use of an option bracket. However, such X linear stage should customize Z-specification(service without charge). Refer to page Swivel

D-004 for further information. About the standard vertical X linear stage, refer to page E-016 for further information. (Tirt)

o F—N—FKR—VBIIEHRAEEENELA, FHERICOVTIIEN—U2BR BZEJ ) A HROBKEKEIC V" PHEEET. F#MICDLTIFC-003X— 7354
LTTFEW (470X =AY RiEF—N—FKR—ILHRHERVET) . BB LTFEL, C3-CL. C3-R-CL. C3-RRR-CLODZ Y Az3#ald. &Kk )(f '\:\.
Additional parts cost is not included on Overhaul cost. Refer to page 16 for DHERY)ET, %/;-_J
further information (Micrometer is not included in the overhaul). Vacuum lubricant model has “-V” at the end of model number. Page C-003 for
JY—2H ) ZAHEOBRIIKRIC “C" PRZET. HEMICDOLTIZC-003 further information. Lubricant exchange is not available for actuators on stages

O XZo%BmUTTAL, C3-CL. C3RCL. C3RRR-CLOZ U A%kl that include the C3 model.

KEDAERYET . ) BERDZELZICK I BRADYEES A T,

Clean room lubricant model has “-C” at the end of model number. Page C-003 for FHUIIEEDBETEROADETE,

further information. Lubricant exchange is not available for actuators on stages We appreciate the product customizing. Contact us for further information.

that include the C3 model. FUEYUIZDVTIZO-001 R—YEBRBLTFEL,

Refer to page 0-001 for information on accessory.
tT-5—-
JvhO-3
Motor
Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
1153
Appendix
BEOEDEIE*TEL:044-981-2131 7 FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp D-029



